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( puwn pnLpbnwhl dwihuubiph ghipwnbuswlwl nwuwuwnqdwh )
opwahpp
Ubdwlnwlp  Pdojwlwl wdpnywwnnphw

Pwdhl 07 hunwdp 03 nwu 01
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Fudwl wnwpYuwgh QAR S
SR dhwynp e Ll Pwlwlp | (hwqun
Uhguwlighly alp i ghlp S,
dwdlwaghpp' wudwlnidp
puwn aUY
unryve
Unnnpwwjwhwlwl 3 jwpnpwinnp Unipbp 4266
33621390 Udhnnwpnt 200 dgq a3 hwin 62 1000 62
33691123 Ubipbiunwaqn) 100 dq g3 hwwn 41 100 4,1
Udopuhghiht+pjuwdnywtiwpent (500 dq +
33651112 125 dqg) 93 hwuwn 193,15 300 57,945
33691124 Mhpwtwnt 12.5 -2.5 dq a3 22hY 1308 25 32.7
33651112 Udopuhlyjwy 250 dq + 62.5 Ug 100 4] |33 hwin 2562 30 76,86
33651253 Swidnpuhdbiu 20 g a3 hwn 96 400 38,4
33661152 Stwnpwghlht 30dg/q 15q a3 hwn 447 b 2,235
Udopuhghiht+pjwynywlwpent
33651112 (1250g+31.25 dq)/5 J; 1004) 93 hwun 1118 40 44,72
33671131 Lnpwinwnht 10 dg a3 hwuwn 25,1 120 3,012
33651111 Udopuhghihts 250ug/54) 1004 a3 hwun 844 40 33,76
Ubwnwdhqgn| (dewnwdhgn) bwwnphnwd) 50%
33661119 24; a3 hwwn 447 50 2,235
33621690 bwpnybinhin) 25 dg  Eghiny g3 hwn 43 600 25,80
33641413 THapuwdbpwagnt 4 dg/ g; 10 a3 hwun 64,8 100 6,48
33631200 pinpwddbuhyn; 10dg/q 25dq Q3 hwwn 414 5 2,07
33691176 O$inpuwghtt whuwlwph; 03% a3 hwn 428 10 4,28
3,4E+07 Uwnpnwht 1dg/d) 1d; a3 hwn 62,5 20 1.25
33621230 bnjwpen 5 Ug a3 hwn 4,36 200 0,872
33661122 wwpwgbnwdn) 100 dg dndhy a3 hwin 38 50 1,9
pInnnujhpwidhts (pnpnwhpwdhth
33691236 hnanainythr/20dg/dy Q3 hun | 2624 50 13,12




Upnudhtupnuwih hhnpopuhn + dwqubighnuh
hhnpopuhn, (436 Ug +150 dq)/ 10 J 1704]
- Udwghly

33611110 93 hwn 3810 5 19,05
33621620 Uwhpnunjwywunnu 25 Jdgq Q3 hwn 48,9 1100 53,79
33661156 fahdnin 0,5% 54 93 hwuwn 410 5 2,05
33642210 Mpbnuhgninu 5 dgq g3 hwun 6,6 500 33
33691144 Lwuwnph wnhnuny$win 250 dq a3 hwwun 51,8 150 7,77
33661116 Lhnnyuwjht 5 % 154; Q3 hwun 1256 2 2512
33661128 “wppwdwqbiuht 200dq g3 hwuwn 17,2 1000 17,2
bnpuwnbipu Shupnnnpuwght +
33691176 nbpuwdbpwqgnu 3dq 1) +1dq Q3 huwiwn 1915 20 38,3
33611100 Odbupwqany 20 dg a3 hwn 10 2000 20,00
Utiipnih [nényp dbuph) hgnjwibpwppynu
33621270 100dq 93 hwuwn 15,4 100 1,54
33621140 Yinwhnngnbi 75 dg a3 hwun 140 1000 140
beunpwpphuiw), Ephippndhgnuwitpwn
33621300 18,4dg/d|+18,4dq/d) 504 a3 hwuwn 2574 40 102,96
33631300 Ybinnwnndbu 200 dg/2d; Q3 hwin 823,6 50 41,18
33631310 “Hhyindtuwl 100 dg g3 hwn 275 700 19,25
ANEphunnuphy + hunuuwdhn +
33621764 wdinnhwyht 8+2.5+5 dq g3 hwwn 104,3 2300 239,89
33671116 Luhindbnwgniht 0.05% 104, 93 hwuwn 243 25 6,075
33651125 Ughppndhght 500 dg wwinhb a3 hwuwn 407,78 30 12,2334
33621720 Fhunwpnin; 5 Ug a3 hwwn 23,7 3200 75,84
33611420 Lwighnwh gqyniyntiwn 0.5 q g3 hwtn 11 1000 11
33631290 hpnwypndbu 400 dg, a3 huin 48 1000 48
Mphunnwphy + hunwwwdhn 4 dq + 1.25
33621530 dg Un - ypbbuw a3 hwn 69,6 800 55,68
Fhunwpnin; + wbphtnnwphy 5 dg+ 5 dg
33621720 Mpbuwinhin; a3 hwun 87 1400 121,8
33621750 Uhdtinhwyhtu 10dq Q3 hwuwn 8,93 1000 8,93
33661121 Ugtiinhjuwihghjwpeent 100dq a3 hwwn 31,15 5100 158,865
Cnjwpeh wn + dnjwpRent (SUUG+5U[)
33621220 bbpnud LY g3 hwwn 1587 50 79,35
33611160 Ubunynwpwdhn 5 dq / d; 24; Q3 hwun 54 30 1,62
33642250 Untwnbniywuwn 10 dg Q3 hwn 216,07 56 12,09992
Euwjwuphy + hhnpnpinphnehwgpn 10+12.5
33621520 dg Euwwy H 93 hwtn 21,8 1200 26,16
Uny$wdbipopuwign + niphdtenuphd (200
33651131 dg + 40 dq) /5 4} 100d; Unybwwphd |93 hwwn 1558 20 31,16
Ywighnuwh bwwnph+ Yuinud pinphn Mthugbin
33691129 250 4p Q3 hwn 299 20 5,98
33691231 Ywighnud + funjblywigh$bipn; 1000 + 22 q |3 hwwn 46,7 2000 93,4
33631300 Ybwnnwnndbis 25dg/d) 509 a3 hwn 513 20 10,26
33691140 U338 -100 Uq a3 hwwn 83,8 50 4,19
Uwpnunwdng puswndwt100 dyg /
33671113 nbnuwswh,104; a3 hwwn 1729 10 17,29
33621510 Lwuwinuph) 25dq Q3 hwuwn 3.3 1100 3,63




33631230 Mnyhnnt jnn. 10% 1004; a3 hwtn 1920 8 15,36
fun|Glwghbbtipng 5dq/ ) (200 000 UUY 4)
33611360 104, a3 hwn 1473 170 250,41
33691136 Lwuwnphnuwih pinphrp 0.9 % 2504 a3 hwn 299 70 20,93
33631310 Hiyin$huwy 25 dg/u) 34; Q3 hwn 77 200 15,4
33651115 Stdwbpuht 250dq/54] 1004; 93 hwn 1238 5 6,19
33661122 Mwpwgbiinwdng 125 dq/5 dj 1004; g3 hwun 775 25 19,375
33631210 Phunwdbpwagnu 1dg/g; 30q a3 hww 2238 10 22,38
33661152 Swdunynght 0.4 Jq a3 hwwn 152,89 500 76,45
33621590 [ Mhpwgbunwd (nid. Lbpwpldwl 200dq 1 dj|a3 hwn 43,1 25 1,0775
33651150 bniynuwgn) 50 g Q3 hwuwn 64,25 10 0,6425
33691140 Ugg 600 dg Ugbtwhighuwnht a3 hwn 575 100 57.5
33611200 Lnwbtpwdhn 2 dg g3 hwuwn 8,3 100 0,83
33621370 hqnunpphnh nhuhwpwwn 20 dq Q3 huin 27,75 200 5,55
33611420 Yw|gh giniyntiwn 100 dg Q3 hwuwn 159 20 3,18
33651117 Stdhpuhd 100 dj + 5 4; a3 hwuwn 4689 7 32,823
33611400 Mtinhung 33 000 UU a3 hwwn 9 100 0,9
33611350 Uulnpphtiwpent 50 g g3 hwuwn 51,1 200 10,22
33621330 Lhlbpwdhn 250dq/d) 24 93 hwwn 160 150 24
pinpwddbiuhyny, dephinipugh; DO6C
33631200 Lundhyny a3 hwwn 275 15 4,125
33621740 Udinnhwhu 5 dg 93 hwun 19,83 1400 27,762
33642230 Lunphpnpuht 50 dlyg a3 huwin 11,93 3000 35,79
33621110 Ywpdwphu 5 dg Q3 hwwn 28,07 1000 28,07
33621420 Uwnnpjwuwnwnhti 10 dg Q3 huwn 40 1000 40
33651118 Stbuphwpunt 1g q3 hwun 288 ~ 50 14,4
33661122 Muwpwgbinwdng 500 dg a3 hwuwn 9,% 100 0,99
33642230 Lunphpnpupt 150 dyq 93 hwtn 15,51 500 7,755
33651170 Ughlindhp wliwpundy 3% a3 hwwn 250 10 2,5
33611120 bwdninhnhu 40 dq a3 hwtn 36 50 1,8
33611210 Unybwuwjwaght 500 dq Q3 hwn 71,24 1150 81,926
33631210 Phwnwdbpwgnt uppwpunly 0.1% g3 hwuwn 892 15 14,88
33642220 Utiphjwntinuhgninu 4 Jg a3 hwwn 54,74 2800 153,272
33691112 Ubinpnuhnwgn; 500 dg Q3 hwn 5,6 200 1,12
33651224 Ubipnuipbpuwwn 2.5 dg Q3 hwn 60,61 400 24,244
33611150 Muwuypbwwnpu 400 dq a3 hwn 8,56 1000 8,56
33651125 Ughunpndhght 100dq/54; 93 22hly 116 5 5,58
33651125 Ughwnnndhght 250dq 93 hwn 223,67 75 16,77525
33671116 Luhndbwnwgnihti 0.1% a3 hwn 394 15 5,91
33631300 Ybwnnwpndbu /Mbunnuwy/ 100dg a3 hwtn 150,125 200 30,025
33691176 (thuwbphnnu 2dq Q3 hwun 23,8 900 21,42
33691176 Pphdowwhl Gl 2hYy 3320 11 36,52
33691176 UwdGwnbipny/$inunhlyugnti 50/100 dyg (9] 22hY 8891 10 88,91
33691123 Ubpbunuwqgn) 100 dq a3 hwun 41 100 4,1
33691124 Mhpwuwnby 12.5 -2.5 dq 93 22hly 450 25 11,25
33661152 Stwnpwghliht 30dg/q 15q g3 hwin 290 5 1,45
33651112 Udopuhghihtu+pjuwynywtiwpent a3 hwn 594 40 23,76
3162,2




Unwohl wlhpwdtunipjwl nknnpue W 478000 i
33691176 pd2juwlywl wwnwawltp uu hwun 478
CunwJtln 3640,20
W2hiwwnwdwpa 3 wy npwl hwwuwnbgywd wy Jéwplbp 4111
99000000 whuwwnwdwnéd W wy yéwnputp | IrmLud 41529700 1 41529,700
41529,700
Mwnpgiwnpnudutp, nhwdwywl fupwhinwnedUbp 3 hwnndy Jéwplibnp
4112
Mwpgqlwwnpnwdubn, npudwywu 4845000 1
99000000  hupwhuntuntdubn W hwwnuy yéwnutn npwuJ 4845,000
4845,000
4845
Whiwwnwywna 3 wjp npwl hwjwuwpbgdwd wy éwplbp 4823
99000000 whtnwywl ninLpp [npwu 50000 1 50,000
50,000
Mwpgiwwnpnidubip, npwdwywl ipwhunwunwdubp hwandy 6wplbp
4222
Upunwuwhdwljwlu gnpdnunnudubph 400000 1
79991200 qdny dwhuubn npuwd 400,000
400,000
400
Swwnndy buywnwwih wy Unuptp 4269
30100000 hwunnly UwwinwyughU wy Unyetp (Ul hwn 135000 1 135
135
Spwublyjwlwihu Uynptp $ hwgnwun 4261 :
30000000 gpwublyjwluwyhl Wnuetbp W hwgnwn Juu— Jhwwn 400000 1 400
400
ThUgtph 3 jwnnyglbph pupwghl Unpngnud § WwhuwwUnod 4251
2GUptinh L YwnnygUtinh plewghy
450000 1
45461100 Unpngnud b wwhuwjwunwd Uy hwwn 450
2Glptiph U Ywrnygltiph plpwghy 200000 1
45461100 unpngnud W wywhwwunwd uu hwwn 200
650
Ukpbuwltph # uwppwynpnudubph plpwghy Unpngnud § wwwwhdwlinud 4252
45311151 UbpbUwlUbph W uwppwydnpnidubph UU hwn [ 100000 [ 1 100
100
Ywpzwlwl uwppwynpnwdubp 5122
39121110 ghwubnwaGn uu hwuwn 207400 1 207,4
32333200 inbuwgnnn uwnppkn Uy hwwn 37500 4 150




CunwJtlup

30239130 | wniwhs uwnp, pwqiwnillyghniwy, A4, [uu hwn 150000 1 150
42911150 onwhnfudwl uwnpwynpniGbnp Ul hwuwn 200000 1 200
707,4
Uhgwlghy Quithh Qnudwinp
dwdlwaghpp wlldwlnwdp buluh dhwynn hUrJ]L[ﬂI‘Ih Puwliwyp | (hwquwp
puwn QUU 0 n ahin npwid)
nwuwwnpgd
wl
DwawjnLpnlllbp
98391200 ULalwhwg, dwul quing. dwn uu 150000 1 150
65111100 Ynuntlw Swnwjnueiniilbp uu 102500 1 102,5
64200000 Ywuh Swnwjnyznll Uy . . 0
66110000 Pwlluwyhl dwnwjniejndilbn uu S0 L 5
o U hnydwl odwl
pwanuyhl wwywhnydwl odwlinwy 230000 i
72261160 dwnwynipinlilbn uu 230
09311100 ElGYunpwlwlncpiniu uu = 00000 1 300
09411700 plwlwl qug uu =90000 : 300
85111100 hhywlnwlngwjhl bwnwjnipintilbn 6300000 . 6300
75251200 hwhwhpnbhwjhl swnwjnieniiibnp uu =0 . 45
rwihnUubph Juwuwgbpddwl W SO i
90531300 nyUswgdwl dwnwynniilibp uu 60
3000 1
79131300 EiGl. Unnpwgn. Swn. uu 3
50000000 YGpwhnpngiwl L ywhwwhdwh uy 150000 1, 150
7645,5

60102,800




